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Exam Date 24/11/2021
Exam Time : 4:00 PM - 5:30 PM
Subject Constable GD 2021

Section : Part A General Intelligence and Reasoning

Q1 Select the dice that can be formed by folding the given sheet along the lines.

h

4 3 1
2 5 2

A B c D
Ans X1 A,B,Cand D

X 2. Only A

X3 OnlyAand C

+ 4 Only B

th

Question ID : 65497835719
Status : Answered
Chosen Option : 2

Q.2 Select the number from among the given options that can replace the question mark
(?) in the following series.

8, 25, 57, 221, 449, ?
Ans X 1.1879

< 2.1798
X 3.1978
o 4. 1789

Question ID : 65497835728
Status : Not Answered
Chosen Option : --
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Q.3 Four letter-clusters have been given, out of which three are alike in some manner and
one is different. Select the letter-cluster that is different.

Ans X 1.XVRL
o 2. KIEA
% 3.RPLF
X 4. MKGA

Question ID : 65497835713
Status : Answered
Chosen Option : 2

Q.4 Select the option that is related to the third term in the same way as the second term is
related to the first term.

SYMBOL : YSBMLO :: BANQUETS : ?
Ans 1. ABQNEUST
< 2. NABEUQST
< 3. QNABSTEU
X 4. ABQNSTEU

Question ID : 65497835705
Status : Answered
Chosen Option : 1

Q.5 Four friends Rati, Areema , Sonali and Geet are sitting side by side onthe bed facing
towards north . Sonali is sitting towards left of Rati. Rati is sitting to immediate left of
Areema. Geet is sitting between Rati and Sonali. Who is sitting at second place from
the right end?

Ans X 1. Geet
& 2. Rati
2 3. Sonali
X 4. Areema

Question ID : 65497835724
Status : Answered
Chosen Option : 2

Q.6 If the ratio of the present ages of Shikha and Rajkumar is 2 : 1, and 15 years ago the
ratio of their ages was 3 : 1, then the present age (in years) of Shikha is:

Ans X 1.45
X 2.75
& 3.60
X 4.30

Question ID : 65497835711
Status : Answered
Chosen Option : 3
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Q.7 If ‘P’ denotes ‘addition’, ‘Q’ denotes ‘multiplication’, ‘R’ denotes ‘subtraction’, and ‘S’
denotes ‘division’, then what will be the value of the following expression?

45S (3P7) P5S (8S4) P9Q (15S5)
Ans X 1.32

X 2.28
< 3.38
o 4.34

Question ID : 65497835718
Status : Answered
Chosen Option : 4

Q.8 Six friends R, S, T, U, Vand W are sitting in a straight line. T is third from the left and
fourth from the right. V is between T and S. Also, S is to the immediate left of U. R is
between T and W. Find the position of V from the right side.

Ans X 1. Second
X 2. Fifth
X 3. Fourth
& 4. Third

Question ID :'65497835715
Status : Answered
Chosen Option : 4

Q.9 Select the option that is related to the third number in the same way as the second
number is related to the first number and the sixth number is related to the fifth
number.

23:368::25:7::21:294
Ans X 1.382
o 2.450
X 3441
X 4.371

Question ID : 65497835717
Status : Answered
Chosen Option : 2

Q.10 In a certain code language, 'DOCTOR' is written as 'SQWGTJ' and 'SINGER' is written
as 'SGJRNY". How will 'TAILOR' be written in that language?

Ans X 1. TOOMFZ
< 2. TQQNEZ
< 3. SQOMFX
«" 4. SQOMFZ

Question ID : 65497835708
Status : Answered
Chosen Option : 4
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Q.11 Select the option that is related to the third word in the same way as the second word
is related to the first word.

Syphilis : Bacteria :: Tinea pedis : ?
Ans X 1. Protozoa
X 2. Algae
X 3. Virus

" 4. Fungi

Question ID : 65497835723
Status : Answered
Chosen Option : 1

Q.12 select the correct mirror image of the given combination when the mirror is placed at 'PQ' as shown.

KURDARAM

Ans 1. AASATASIAL
v 2 NASAAATA
X3 AQAUAIAA
X4 ATAAAIAL

Question ID : 65497835721
Status : Answered
Chosen Option : 2

Q.13 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:

Some bags are pens.
All pens are boxes.
All bags are books.

Conclusions:

|. Some books are boxes.
1. Some boxes are bags.
1. Some books are pens.

Ans X 1. Only conclusions | and. Il follow
& 2. Only conclusions Il and I1I follow
25 3. Only conclusions | and Il follow

«# 4. All conclusions |, Il and Ill follow

Question ID : 65497835709
Status : Answered
Chosen Option : 2
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Q.14 In the following figure, the square represents ‘natural satellite’, the circle represents ‘stars’, the rectangle represents

‘planets’, the hexagon represents ‘atmosphere’, and the triangle represents *artificial satellite’.

‘Which letter represents planets but NOT stars which have atmosphere and natural satellite but NOT artificial satellite.

»

&g

\

¥ A\

L AN

AN
Ans 1 (T
X2 E
X3 A
X4 B

Question ID : 65497835725
Status : Answered
Chosen Option : 1

Q.15 Select the combination of letters that when sequentially placed in the blanks of the
given series will complete the series.

I__Qz__K__lJ_Qz
Ans X 1.1JKQZQK
X 2.1QZIKI
o 3. JKIJQZK
X 4. JKQQZKI

Question ID : 65497835727
Status : Answered
Chosen Option : 3

Q.16 Select the option in which the given figure is embedded (rotation is NOT allowed).

Ans

Question ID : 65497835720
Status : Answered
Chosen Option : 2
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Q.17 Select the figure from among the given options that can replace the question mark (?) in the following series.

R=CL0

x 1.

x 2

PP

Question ID : 65497835729
Status : Answered
Chosen Option : 3

_ =
Q.18 The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the
following figures. How would this paper look when unfolded?

)
N

Ans

o <
X1 g <
<

xz- .
b
x3. b
>
' <
o 4. <
Lo

Question ID : 65497835712
Status : Answered
Chosen Option : 4
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Q.19 Select the correct option that indicates the arrangement of the given words in the
order in which they appear in an English dictionary.

1. Restates

2. Resistance
3. Restoration
4. Resonant
5. Resection

Ans o 1.524.1.3
X 252143
X 3.5,2,4,3, 1
X 4.54,23 1

Question ID : 65497835726
Status : Answered
Chosen Option : 1

Q.20 Select the letter-cluster from among the given options that can replace the question
mark (?) in the following series.

AS, CQ, EO, ?
Ans X 1.HM
X 2.G6N
o 3.GM
X 4. HN

Question ID : 65497835722
Status : Answered
Chosen Option : 3

Q.21 In a certain code language, 'BOWLER' is written as 'C p X M f S" and ‘NEAT" is written
as 'O f b U'. How will 'SERIOUS' be written in that language?

Ans X 1.TfsJpUt
X2 TfSJPwt
KI3TITjPVT
@ 4. TfSjpvT

Question ID : 65497835706
Status : Answered
Chosen Option : 4

Q.22 Select the option in which the numbers do NOT share the same relationship as that
shared by the numbers in the given number-triad.

(3, 6,18)

Ans X 1.(9, 18, 54)
K 2.(7,14, 42)

« 3. (8, 16, 56)

< 4.(6,12, 36)

Question ID : 65497835710
Status : Answered
Chosen Option : 4
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Q.23 Select the number from among the given options that can replace the question mark
(?) in the following series.

5, 16, 28, 36, 71, 90, 234, 342, ?
Ans X 1.893
X 2.739
X 3.839
o 4.793

Question ID : 65497835716
Status : Not Answered
Chosen Option : --

Q.24 If 'A + B' means 'A is the daughter of B', 'A x B’ means 'A is the sister of B', and 'A =B’
means 'A isthe wife of B', then how is G related to R in the expression 'CxGx U+ M =
R'?

Ans X 1.Son
& 2. Mother
" 3. Daughter
X 4. Sister

Question ID :'65497835707
Status : Answered
Chosen Option : 3

Q.25 In a certain code language, ‘TIKRI’ is coded as ‘201811369’. How will ‘BOARD’ be
coded in that language?

Ans X 1.2151364
75 2.2151184
" 3.2301364
< 4.2301184

Question ID : 65497835714
Status : Answered
Chosen Option : 3

Section : Part B General Knolwedge arid Géneral Awareness

Q.1 served as the summer capital of British India between 1864 and 1939.
Ans X 1.Kalimpong

" 2. Shimla
25 3. Mount Abu
& 4. Gangtok

Question ID : 65497835737
Status : Answered
Chosen Option : 2
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Q.2 Which of the following law states that, "The force between two objects is directly
proportional to the product of their masses?"

Ans X 1.law of motion
& 2. law of change of momentum
& 3. law of inertia

4" 4. law of gravitation

Question ID : 65497835749
Status : Answered
Chosen Option : 3

Q.3 On the basis of which phenomenon does a jet engine work?
Ans X 1. Conservation of acceleration

#< 2. Conservation of circular momentum
& 3. Conservation of velocity

«" 4. Conservation of linear momentum

Question ID : 65497835741
Status : Answered
Chosen Option : 4

Q.4 Where will India’s first home for transgender children in need of care and protection
soon be established?

Ans X 1. Mumbai
¥ 2. Bengaluru
% 3. Delhi
#< 4. Chennai

Question ID : 65497835751
Status : Answered
Chosen Option : 2

Q.5 To which of the following states does the Aji Lamu folk dance belong?
Ans X 1.Assam

X 2. Tripura
25 3. Manipur
4" 4. Arunachal Pradesh

Question ID : 65497835739
Status : Answered
Chosen Option : 4

Q.6 At Indo Myanmar border which hills adjoin the Mizo Hills and Manipur Hills of the
Eastern Highlands of India?

Ans X 1.Dongkya
X 2. Toba Kakar
X 3. Khasi
& 4. Chin

Question ID : 65497835730
Status : Answered
Chosen Option : 3
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Q.7 Which of the following Constitutional Amendment Acts made it compulsory for the
President to give his assent to a Constitutional Amendment Bill?

Ans

25 1. 100th Amendment Act, 2015
& 2. 42nd Amendment Act, 1976
" 3. 24th Amendment Act, 1971
25 4. 44th Amendment Act, 1978

Question ID : 65497835747
Status : Answered
Chosen Option : 2

Q.8 Who among the following was honoured with the 2020 Nobel Prize for Literature?

Ans

25 1. Alice Munro
" 2. Louise Gluck
. 3. Doris Lessing
5 4. Kazuo Ishiguro

Question ID : 65497835744
Status : Answered
Chosen Option : 2

Q.9 Chirag Shetty who has been awarded with Arjuna Award in 2020 is related to which of

Ans

the following sports?

#< 1. Cricket
& 2. Hockey
25 3. Swimming
¥ 4. Badminton

Question ID : 65497835738
Status : Answered
Chosen Option : 4

Q.10 Chanakya was Prime Minister under the reign of

Ans

+" 1. Chandragupta Maurya
X 2. Harshavardhana

25 3. Bindusara

25 4. Ashoka

Question ID : 65497835731
Status : Answered
Chosen Option : 1

Q.11 In which city is the Salar Jung Museum situated?

Ans

25 1. Chennai

/< 2. Bengaluru

" 3. Hyderabad

#5 4. Thiruvananthapuram

Question ID : 65497835740
Status : Not Answered
Chosen Option : --
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Q.12 ‘Swarnajayanti Gram Swarojgar Yojana’ (‘SGSY’) was launched in the year
Ans o 1.1999

% 2.2005
X 3.2002
X 4.1995

Question ID : 65497835735
Status : Answered
Chosen Option : 3

Q.13 As per the Census of India 2011, a person aged and above, who can both read
and write with understanding in any language, is treated as literate.

Ans X 1.6
X 2.4
& 3.7
X 4.5

Question ID : 65497835753
Status : Answered
Chosen Option : 1

Q.14 Who among the following was appointed as the Managing Director and Chief
Executive Officer of India Post Payments Bank in October 20207

Ans X 1.Seema Gupta
2. Apurva Chandra
4" 3. J Venkatramu
< 4.S Aparna

Question ID : 65497835745
Status : Answered
Chosen Option : 3

Q.15 A business enterprise that makes profit primarily through trade, buying goods cheap
and selling them at higher prices is known as

Ans X 1. mercenary
X 2. bartering
¥ 3. mercantile

& 4. merchandising

Question ID : 65497835750
Status : Answered
Chosen Option : 3

Q.16 Small bead-like structures inside the ovary of a flower are called

Ans  # 1. ovules
X 2. sepals
X 3. stamen
& 4. petals

Question ID : 65497835742
Status : Answered
Chosen Option : 4
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Q.17 bonds are issued in global capital markets outside India by international
financial institutions to raise money and lend to Indian companies.

Ans X 1. Chandi
X 2. Mithai
" 3. Masala
X 4. Papad

Question ID : 65497835736
Status : Answered
Chosen Option : 1

Q.18 The legendary footballer Diego Maradona, who died in November 2020, had led his
country Argentina to a FIFA World Cup title win in:

Ans X 1.1994
o 2.1986
% 3.1990
X 4.1982

Question ID : 65497835746
Status : Not Answered
Chosen Option : --

Q.19 What was the trilateral naval exercise between India, Japan and The US held in
November 2020 called?

Ans X 1. Simbex -20
" 2. Malabar
X 3. Yudh Abhyas
25 4. Mitra Shakti

Question ID : 65497835733
Status : Answered
Chosen Option : 2

Q.20 §Tel T (S B S@HTE SR TRe) fadae, 2014 g ara Y argafa a2
Ans X 1.14-18 94 I 3T ATt fHRIRT DT YUR GRLH Wil ST =T
X 2.16-18 T B 3T AT FHIRT BRSRTEN & 1T 60 - dF WIS Ja1 H G- &1
e o S =R

X 3. 16-18 T 1,317 aTd fHRIRY & TTaT-foreT & fH=IR gRT b 7T Srorey & forw srommedt
FEH B DI Bt S AR

o 4. 16-18 TS BH3ITY ATCfHRIRT BT STI=T SURTY & 7T Tavh! BT IRE Tl & S =g

Question ID : 65497835732
Status : Not Answered
Chosen Option : --

Q.21 Which of the following tribes belongs to the Nilgiri Mountains?
Ans X 1. Angamis

" 2. Todas
X 3. Jarawas
& 4. 0Onges

Question ID : 65497835734
Status : Answered
Chosen Option : 4
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Q.22 Which of the following places/regions is the natural habitat of the Indian wild ass?
Ans X 1.Sunderbans

25 2. Upper Himalayas
X 3. Plains of Ganga
¥ 4. Little Rann of Kutch

Question ID : 65497835743
Status : Answered
Chosen Option : 4

Q.23 Which of the following countries launched the 'Atal Innovation Mission-Sirius
Innovation Programme 3.0’ in November 20207

Ans o 1.India and Russia
#< 2. India and Australia
< 3. India and France
X 4. India and Japan

Question ID : 65497835748
Status : Not Answered
Chosen Option : ==

Q.24 How is the ‘average income’ of a country calculated?
Ans 4 1. Total income of the country divided by its total population.

X 2. Total income of all the residents of the country.
< 3. Total income of the country minus the population.

£ 4. Total income of the country multiplied by its total population.

Question ID : 65497835752
Status : Answered
Chosen Option : 1

Q.25 Who among the following sportspersons is an Indian professional tennis player?
Ans X 1. Prakash Padukone

25 2. Pullela Gopichand
%" 3. Rohan Bopanna
& 4. Kuldeep Yadav

Question ID : 65497835754
Status : Answered
Chosen Option : 3

Section : Part C Elementary Mathematics

Q.1 A machine X can produce 1000 bolts in 4 hours and another machine Y can produce 1000 bolts in 12 hours. In how
many hours can machines X and Y, working together at their respective constant rates, produce 1000 bolts?

Ans 1 3
X2 2
X3 6

X4 4

Question ID : 65497835772
Status : Answered
Chosen Option : 1
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Q.2 Inacompany, there are 75% skilled workers and the remaining are unskilled. 84% of the skilled workers and 28% of
the unskilled workers are permanent. If the number of temporary workers is 150, then the total number of workers in the

company is:

Ans X1, 600
« 2. 500
X 3. 480
X 4400

Question ID : 65497835761
Status : Answered
Chosen Option : 2

Q.3 Rumi earns 40% more wages than those earned by Erica. Charles earns 60% more wages than those earned by Erica.

‘What percentage are the wages earned by Charles more than those earned by Rumi (correct to two decimal places)?
Ans X1, 12.29%
< 2. 10.29%
X 3. 14.9%
o 4 14.29%

Question ID : 65497835771
Status : Answered
Chosen Option : 4

Q.4 A metallic cone of radius 16 em and height 36 cm is melted and made into spheres of radius 4 cm each. How many

spheres are there?

Ans 1. 34
X2 32
X3 28
X4 45

Question ID : 65497835779
Status : Answered
Chosen Option : 1

Q.5 Amn invested 37,000 at simple interest for two years at 10% per annum. Bharath invested a certain sum at simple
interest for 5 years at 8% per annum. If the amount received by Arun is equal to the amount received by Bharath, then

the sum invested by Bharath is:

Ans X 1. 5,800
v 2. 36,000
X 3. 36,200
X 4. 36,500

Question ID : 65497835763
Status : Answered
Chosen Option : 2
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Q.6 A sum of money at simple interest amounts to T650 in 3 years and to T754 in 4 years. The sum is:

Ans X1 308
X2 3318
X3 F388
4 338

Question ID : 65497835768
Status : Answered
Chosen Option : 4

Q.7 The present average age of A, B and C is 60 years and that of B and C is 50 years. What is A’s present age?

Ans 1. 80 vears
X 2. 60 years
X 3. 75 years
X 4. 45 years

Question ID : 65497835765
Status : Answered
Chosen Option : 1

Q.8 The difference between the simple interest received from two different sources on 1,625 for 5 years is ¥32.50, Find the

difference between their rates of interest.

Ans X1 0.5%
X 2. 0.6%
« 3 0.4%
X4 0.3%

Question ID : 65497835778
Status : Answered
Chosen Option : 1

Q.9  Anarticle is sold at 3,520 at a loss of 12%. At what price should it be sold to earn a profit of 18%?7

Ans X 1. 4,500
X2 35,620
v 3 34,720
X 4. 34,620

Question ID : 65497835762
Status : Answered
Chosen Option : 3
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Q.10 when walking at % of his usual speed, a man is 10 minutes late. What is the usual time taken by him to cover that
distance?

Ans X' 1. 72 min
« 2. 1 hour
# 3. 1 hour 15 min

A 4. 120 min

Question ID : 65497835773
Status : Answered
Chosen Option : 2

Q.11 A person gains 15% by selling an item for a certain price. If he sells it at double the price, then what will be his profit

percentage?

Ans X' 1. 110%
X2 115%
+ 3. 130%
X 4. 120%

Question ID : 65497835776
Status : Answered
Chosen Option : 3

Q.12 If 20 men can complete a work in 48 days, then how many men should be employed to complete the same work in 40
days?

Ans X1 28]
W2 24
X3 22
X4 26

Question ID : 65497835759
Status : Answered
Chosen Option : 2

Q.13 If a 9-digit number 5y97405x2 is divisible by 72, then the value of (x — 2y), for the greatest value of x, is:
Ans 1 |
X2 8
X3 4
x4 9

Question ID : 65497835760
Status : Answered
Chosen Option : 1
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Q14 Simplify the following expression.

Ans

27+3x4+4220f2

. 1
X122
8

2 37
. 1

3. G
A

. 1
X4 12
8

Question ID : 65497835757
Status : Answered
Chosen Option : 2

Q15 The average of 9 observations was 10, with that of the first 5 being 11 and that of the last 5 being 8. What was the st

Ans

observation?
o 1.5
X2 6
X3 4
X4 7

Question ID : 65497835769
Status : Answered
Chosen Option : 1

Q.16

Ans

(1-1/2) (1 - 1/3) (1 - 1/4)

x1.1/22
X2 1/2
3 1/23
x4 1/3

(1 — 1/23) when simplified will give the result as:

Question ID : 65497835774
Status : Not Answered
Chosen Option : ==

Q.17 A wrist watch has been sold for 22,300 with a profit of 15%. How much is the profit?

Ans

X 1. Z320
X 2. 3280
« 3. 2300
X4 3250

Question ID : 65497835758
Status : Answered
Chosen Option : 3
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Ans X 1. 150 metres
< 2. 160 metres

X 4. 140 metres

« 3. 120 metres

Q.18 A train 180 metres in length, travelling at a uniform speed of 92 km/h, crosses another train, travelling in the same
direction at a uniform speed of 74 km/h. in 60 seconds. The length of the second train is:

Question ID : 65497835775
Status : Answered
Chosen Option : 3

Ans #1. 8
X26
X3 4
X4 5

many trousers should he buy to do so, if each trouser costs I2507

Q.19 A shop announced a discount of 25% on trousers. Umesh went to the shop. He wanted to save T500 in discount. How

Question ID : 65497835770
Status :"Answered
Chosen Option : 1

smallest number.
Ans #1720
X2 30
X3 10
X4 15

Q.20 The ratio of two numbers is 2 : 5. If 7 is subtracted from each, the ratio of new numbers will be 13 : 43. Find the

Question ID : 65497835777
Status : Answered
Chosen Option : 3

Ans  X1. T550
2. T650
X3 F554
X 4 F560

Q.21 After allowing a discount of 30% on the marked price of an article, it is sold at T455. The marked price of the article is:

Question ID : 65497835766
Status : Answered
Chosen Option : 2
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Q.22 Inalarge school auditorium, if the teachers make rows of students of 16 each. there will be 14 students left. If they
make rows of 24 each, then there will be 22 students left. If they make rows of 25 each, there will be 23 students left
and if they make rows of 30 each, there will be 28 students left. What is the minimum number of students present in the
school?
Ans X1, 1202
<2 1200
3 1198
<4 1189
Question ID : 65497835764
Status : Answered
Chosen Option : 3
Q.23 If the sides of a triangle are 8 cm, 8 cm and 12 cm, then what is the area of the triangle?
Ans
¢ 1. 1247 em?
X2 64cm’
X3 19cm’
X 4 34cm?
Question ID : 65497835756
Status : Answered
Chosen Option : 1
Q.24 The ratio of boys and girls in a school of 1600 students is 11 : 9. How many more boys should be admitted to the school
to make the ratio 4 : 37
Ans X' 1. 100
<2 160
3. B0
X 4. 387
Question ID : 65497835755
Status : Answered
Chosen Option : 3
Q.25 A bag contains T441 in the form of 50 p, 25 p and 20 p coins in the ratio 4 : 3 : 2. Find the number of 25 p coins.
Ans X1, 240
o 2 420
X< 3. 400
X 4. 460
Question ID : 65497835767
Status : Answered
Chosen Option : 2

Section : Part D English
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Q.1 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Tortoises inhabit all of / the world’s landmasses / except Australia / and Antarctica.
Ans o 1. Tortoises inhabit all of

X 2. except Australia

< 3. the world’s landmasses

< 4. and Antarctica

Question ID : 65497835791
Status : Not Answered

Chosen Option : --

Q.2 Select the INCORRECTLY spelt word.
Ans o 1. Nerture

< 2. Capture

& 3. Structure

X 4. Lecture

Question ID : 65497835788
Status : Not Answered
Chosen Option : --

Q.3 Select the option that can be used as a one-word substitute for the given group of
words.

A medicine used to nullify the effect of poison
Ans  # 1. Antidote

25 2. Antibiotic

25 3. Antigen

X 4. Antiseptic

Question ID : 65497835796
Status : Not Answered

Chosen Option : --

Q.4 Select the most appropriate meaning of the given idiom.
Toe the line
Ans  # 1. Follow the pdles
/5 2. Start early
25 3. Touch the feet
5 4. Finish first

Question ID : 65497835787
Status : Not Answered

Chosen Option : --
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Q.5 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

It was such a funny story that we cannot help laughed.
Ans X 1. cannot help laughing
X 2. could not help laughed
25 3. No substitution required

4 4. could not help laughing

Question ID : 65497835780
Status : Not Answered
Chosen Option : --

Q.6 Select the most appropriate option that can substitute the underlined word in the
given sentence.

After the bag was shut and barrelled, he realised that he had forgotten to put in the
book.

Ans 4 1. strapped
X 2. rebounded
< 3. scrambled
X 4. scratched

Question ID : 65497835783
Status : Not Answered
Chosen Option : --

Q.7 Select the most appropriate option to fill in the blank.

The boy walked at a fast
Ans X 1.pose

& 2. place
< 3. peace
«” 4. pace

Question ID : 65497835798
Status : Not Answered
Chosen Option : --

Q.8 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

We bought / good quality / furnitures / for our new house.
Ans X 1. We bought

" 2. furnitures
25 3. good quality

& 4. for our new house

Question ID : 65497835794
Status : Not Answered
Chosen Option : --
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Q.9 Select the option that can be used as a one-word substitute for the given group of
words.

A place where wild animals are kept in their natural environment
Ans X 1.Pantry

¥ 2. Sanctuary
5 3. Aviary
< 4. Tannery

Question ID : 65497835786
Status : Not Answered
Chosen Option : --

Q.10 Select the correctly spelt word.
Ans X 1. Conscientios

#< 2. Conscentious
/. 3. Conscientous

4" 4. Conscientious

Question ID : 65497835797
Status : Not Answered
Chosen Option : --

Q.11 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, select ‘No error’ as your answer.

A good book / is one of / our best friends.
Ans X 1.isone of

< 2. A good book
" 3. No error
X 4. our best friends

Question ID : 65497835781
Status : Not Answered
Chosen Option : --

Q.12 Select the most appropriate option to fill in the blank.

Suddenly, it started raining and | an umbrella from the office.
Ans o 1. borrowed

< 2. criticised
& 3. lended
X 4. substituted

Question ID : 65497835784
Status : Not Answered
Chosen Option : --
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Q.13 Select the most appropriate synonym of the given word.

Amusing
Ans X 1. Tiresome

75 2. Dull
¥ 3. Laughable

& 4. Wise

Question ID : 65497835782
Status : Not Answered
Chosen Option : --

Q.14 Select the most appropriate ANTONYM of the given word.
Diverge
Ans X 1.Depart
" 2. Converge
X 3. Contrast
X 4. Submerge

Question ID : 65497835790
Status : Not Answered
Chosen Option : --

Q.15 Select the most appropriate ANTONYM of the given word.

Chaste
Ans X 1. Vicious

" 2. Corrupt
< 3. Cruel
X 4. Virtuous

Question ID : 65497835795
Status : Not Answered
Chosen Option : --

Q.16 Select the option that can be used as a one-word substitute for the given group of
words.

Light rain falling in small drops
Ans X 1. Downpour
< 2. Stream
& 3. Dew
" 4. Drizzle

Question ID : 65497835793
Status : Not Answered
Chosen Option : --
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Q.17 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

My brother and Raj are good friends. They are knowing each other for at least 10
years.

Ans X 1. No substitution required
X 2. knew
" 3. have known
& 4. are known

Question ID : 65497835799
Status : Not Answered
Chosen Option : --

Q.18 Select the most appropriate synonym of the given word.

Hurdle
Ans X 1.Rudiment

25 2. Compliment
" 3. Obstacle
& 4. Assistance

Question ID : 65497835792
Status : Not Answered
Chosen Option : --

Q.19 Select the most appropriate option to fill in the blank.

The gentleman looked at the beautiful lady with great
Ans X 1. vocation

4" 2. admiration
25 3. reaction

X 4. duration

Question ID : 65497835789
Status : Not Answered
Chosen Option : --

Q.20 Select the most appropriate meaning of the given idiom.

Hand in hand
Ans X 1.Easily
25 2. Vigorously
25 3. In totality
" 4. Together

Question ID : 65497835785
Status : Not Answered
Chosen Option : --
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Dust storms do not just happen in the middle of the desert. They can happen in (1) dry
area where loose dirt can (2) be picked up. Don’t be surprised (3) you
suddenly saw a dust storm (4) your way. Dust storms usually (5) without

warning.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank no.1.
Ans X 1.few

X 2. all
5 3. much

o 4. any

Question ID : 65497835801
Status : Not Answered
Chosen Option : --

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Dust storms do not just happen in the middle of the desert. They can happen in (1) dry
area where loose dirt can (2) be picked up. Don’t be surprised (3) you
suddenly saw a dust storm (4) your way. Dust storms usually (5) without
warning.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank no.2.
Ans X 1.slowly

< 2. casually
/< 3. properly
o 4. easily

Question ID : 65497835802
Status : Not Answered
Chosen Option : --

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Dust storms do not just happen in the middle of the desert. They can happen in (1) dry
area where loose dirt can (2) be picked up. Don’t be surprised (3) you
suddenly saw a dust storm (4) your way. Dust storms usually (5) without
warning.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank no.3.
Ans X 1. whether

& 2.s0
< 3. until
o 4. if

Question ID : 65497835803
Status : Not Answered
Chosen Option : --
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Q.24
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Dust storms do not just happen in the middle of the desert. They can happen in (1) dry
area where loose dirt can (2) be picked up. Don’t be surprised (3) you
suddenly saw a dust storm (4) your way. Dust storms usually (5) without

warning.

SubQuestion No : 24
Select the most appropriate option to fill in blank no.4.
& 1. heading

£ 2. directing
#5 3. deciding
< 4. lashing

Question ID : 65497835804
Status : Not Answered
Chosen Option : --

Q.25
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Dust storms do not just happen in the middle of the desert. They can happen in (1) dry
area where loose dirt can (2) be picked up. Don’t be surprised (3) you
suddenly saw a dust storm (4) your way. Dust storms usually (5) without
warning.

SubQuestion No : 25
Select the most appropriate option to fill in blank no.5.
#< 1. show

o 2. arrive
< 3. enter
5 4.reach

Question ID : 65497835805
Status : Not Answered
Chosen Option : --

Section : Part D Hindi

QA1

Ans

froa = 1 gfd & forg we Suge Mg &1 99 B-

IMAI@UST___ fFam
& 1.4
X 2.7
X 3.99
X 4.9

Question ID : 65497835824
Status : Answered
Chosen Option : 1
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Q.2 fyad I F gfd & e ) Iuged g &1 999 B

¥ e e smavaw 71
Ans g1 WY
7 2. Sftadar
X 3. 3y
X 4. dER

Question ID : 65497835812
Status : Answered
Chosen Option : 1

Q.3 39 fawey &1 999 F¥ Wil e gerar 1 IEt o sged HRa1 71

T TR WA AT

Ans X 1. @SS HRAT

X 2. A AT

2 3. YT ST

o 4. 3T HTH B YT FHAT

Question ID : 65497835820
Status : Answered
Chosen Option : 4

Q4 I fImey &1 7= B S e geTar o1 At 3 e wRar gl

FGEER]
Ans 1 g aEa S

X 2.9agg B
7< 3. 8! d1d |raT

X 4 R A

Question ID : 65497835815
Status : Answered
Chosen Option : 1

Q.5 g -l AT oG T TG H1|
Ans 1 R

7< 2. fafer

< 3. fAfifar

X 4.t

Question ID : 65497835816
Status : Answered
Chosen Option : 2
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Q.6 fraa v &t g ¥ fre e Suged weg &1 FaT B
W ____ Fedssddman
Ans 1 FfEd
X 2 fofad
X 3. [ffa
X 4.3d

Question ID : 65497835811
Status : Answered
Chosen Option : 4

Q7 3T g/ & e ve wide v &1 99 S
I Hg ® S 9T a1 I8+ aren
Ans X 1 gEeel
2. GRS
X 3. e

X 4 GrEIae

Question ID : 65497835808
Status : Answered
Chosen Option : 2

Q.8 W gl are W=g BT TG BY|
Ans X 1. ggdraRd

7 2. g&akd

< 3. gIaRid

4. TEIARd

Question ID : 65497835817
Status : Answered
Chosen Option : 1

Q9 Eﬁqmmmﬂmmﬁﬁaﬁﬂ?ﬁ%;ﬁﬂﬁﬁﬂﬁiﬁﬁﬁﬁ%
I

TP W (1) T SR AT F (2)/ simerHr HR 3 w3y FE 3R T8 2(e)
Ans X 1.3

X 21
X34
4.2

Question ID : 65497835806
Status : Answered
Chosen Option : 2
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Q.10 3y U aren ¥ Wafea @e o1 ufawnfia $3 & e e Sugea e staga a3
Tfe 3 vfaenfid $3 F1 snaxgsar 1e1 €, 9 Ao fodt 9game 9t sawmea 181 &
BT I BN
T 9 Y, g9 Ao 3t 916l W 989 F A B
Ans X 1 dftro@d
X 2. 3ftpge @1 arat &
X 3. fodft Seag @t s Tl 8|

o 4. TOhod & 91l R

Question ID : 65497835823
Status : Answered
Chosen Option : 3

QM Y T B UG FVT TH TR & g v wrde g v
Ans X 1.gd

X 2909

o 3.9

X 4. SIaRTg

Question ID : 65497835809
Status : Answered
Chosen Option : 2

@2 Ry R A g RN R A ]
|

TER B U HI9T & (1)\ Gpd UG (2)\ HT9T AT 91 81 (3)\ B 3ie 761 € (4)
Ans X 1.3

x22
X 3.4
41

Question ID : 65497835813
Status : Answered
Chosen Option : 4

Q.13 {3y ¢ are ¥ Y@1ihd @e & ufawnid $9 & fore wed Suged feen s1 3w &30
m@wwﬁmﬂﬁ%,ﬁﬁm%ﬁmﬁﬁmﬂa%
BT DY

Tg 919 g9 9l & S Rk 81
Ans X 1. AP IR
¢ 2. AW
X3 amadw
X 4. Tt 9cad @t Sfazadmdl Tel 8

Question ID : 65497835818
Status : Answered
Chosen Option : 2
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Q.14 3y 7 aren ¥ YErfea @ o uforufia $39 & e 9ad Suged Rea s1aaa av)
fe 3/ ufaeaTfia S3 #t sraxaar 781 7, df ey bt agare o sraxaedar & &

BT TG B
29 U BT S O AUS! F1deT 4 o
Ans X 1 fodfl 9Ecd @1 SMaRaHdl Tel B
X 2. 59 <udl Sall & B
3. Y
X 4 FacTTd

Question ID : 65497835810
Status : Answered
Chosen Option : 3

Q.15 3T 1Y =g F1 fadr g1
U
Ans  p 1 3JUal
X 2.9y
X 3. 3FUaT
X 4. FRO&

Question ID : 65497835819
Status : Answered
Chosen Option : 1

Q.16 3 77T ez BT FHATH a3 T-
Euc|
Ans X 1. @R
x 2. Ry
X3 W
<4558

Question ID : 65497835822
Status : Answered
Chosen Option : 2

QA7 Sy qaT = o WP’ T[T F o 0 e EN-
Ans X 1 3@HYHg

o 2. 3UsHg
< 3.4uféa
X 4. 3ufed

Question ID : 65497835825
Status : Answered
Chosen Option : 2
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Ans X 1 5plef - T
o 2. SKID - AIRKTD
X 3 w1-gdt
< 4. H8IH - |d

Q.18 e Wk F1 et g P A A B AT e?

Question ID : 65497835807
Status : Answered
Chosen Option : 2

Q.19 3T 7T Wreg HT FHATA Weg FATZT-
R
Ans X 179
& 2.1
X 3.ag
X 4. H5d

Question ID : 65497835814
Status : Answered
Chosen Option '3

Ans X 1.1
X 23
X 3.4
4.2

Q.20 %qnqammag I 19 oY R P IR 1 uﬁiﬁ%aﬁﬂﬁ%ﬁ‘iﬁiﬁﬁ‘é’
I

7 3 (1) o & T T &1 (2)/ U WA for@man 3y 918 3 TR 21 (4)

Question ID : 65497835821
Status : Answered
Chosen Option : 4

Comprehension:

D1 99 Diforu|

¥t 7 gfty T8 v el drfeul
SubQuestion No : 21

Ans X 1 3ffidr
X 2.dPid
X 3. sl
¢ 4. dED

Q.21 T & fyaa =i (1) F R waifie Sugea we 8-

feu e e # @ $9 ek gel fRu i ¥ 1 afia usl ¥ ude Gem & fau ged Sugad fade

(1) &I B agd AT H (2) & B Y Fddredl & | AYHfRaA Harg I8
PR b folL DYl D FaBR MGl & SR -3 (3) R 43R I-D1 WG ol g | aft al
I 7Y § GUR B GdAF (4) IEdl 1 afe o o (5) T 918d & af SATUHt

Question ID : 65497835827
Status : Answered
Chosen Option : 4
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Comprehension:

fog e e # @ $9 ek gel fau U § 1 afia usl # i S & fau ged Sugad fade
&I 99 Dol

__ OIoMEgdRIA()__ & HM Y Aadddl 8| AYHfRedl Ao
masmm&mm% AR FDIDG3) w%mmwéaﬁ%mﬁa?

JHAYA TR TIAF @) WAL AR AUID (5)_ ST dIed & ot St
+ 78 gid Tgur Bl AUl

SubQuestion No : 22

Q.22 ey ¥ e wi (2) ¥ e waifte Suged weg &rm-

Ans

X 1. difea

2. AyHfRgal
X 3.ufzal

X 4. Tgait

Question ID : 65497835828
Status : Answered
Chosen Option : 2

Comprehension:

T e e ¥ @ $9 Weg gel fau MU § 1 afia ust # ude Gem & fou ged Sugad fade
P I PIfoTU

1) &1 B dgd SN H (2) & B Y Fadradr 8 | AYHfRaal Harg I8
DA B folY DIl & TIHR AN & SR -3 (3) TR d3HR 3-1D1 39 aidl gl axidl
It 1Y § GUR & GdAF (4) el g1 afe 31U 3= (5) TIFI AR § dl 3Tl
i 7 gfti 78U Bl drfeul

SubQuestion No : 23

Q.23 ey & fyaa ®IF (3) ¥ forg waifue Suge =g Em-

Ans

PR
2. 5d
X 3.08t
X 4.7

Question ID : 65497835829
Status : Answered
Chosen Option : 2

Comprehension:

UL T A A % ek geT QU T 1 Tahid s & vl o & T G Sugad faded
ST 99 Diferg

1) &1 B dgd M H (2) & B Y Fadradr 8 | AYHfRea Hare W
A & foIT DY & TaHR AN & SR -3 (3) R §8@R 31 39 ol g | aft at
Fh 1Y ¥ GUR & GdAF (4) el 81 afe 31 3= (5) SHI 918 § ol STUD!
¥t 75 gfd Teur Bl AUl

SubQuestion No : 24

Q.24 TR ¥ e WM (4) ¥ Rre waifte Sugea v 8-

Ans

X 1. g
X 2. 9
o 3. Tl
X 4.%gd

Question ID : 65497835830
Status : Answered
Chosen Option : 3

Download More Papers From www.GovtJobsAlert.In




Download More Papers From www.GovtJobsAlert.In

Q.25
Ans

Comprehension:

fog e e # @ $9 ek gel fau U § 1 afia usl # i S & fau ged Sugad fade
&I 99 Dol

DIIHTGAANMAQR) & HH Y Fadrgerd g | AyHfRadl davg
m%mm%?gﬂm% IRIDBIADG) Wawmwam%lama
FJTHAYAGER I GAAF (4) WAl QI AR MU D (5) _ s-FIdrea ¢ ol U
¥t 75 gid Teur Bl AUl

SubQuestion No : 25

T ¥ fYad wIF (5) ¥ o waifie Suged weg -
X 1. qHSYd
X 2. gferw
X 3. THR
& 4. dED
Question ID :
Status :

65497835831
Answered

Chosen Option : 4
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